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Chapter 3, Problem 73. \ ) \ﬁ@" v.,}m)’

Write the mesh-current equations for the circuit in Fig. 3.117. \V %'w\\ pes ¥)
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Figure 3.117 Mech
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Chapter 3, Problem 44,

Use mesh analysis to obtain i, in the circuit of Fig. 3.90.
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Figure 3.90
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Chapter 3, Solution 44.
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Loop 1 and 2 form a supermesh. For the supermesh,
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For loop 3, iy +-TFig 6=

AISO, iz =3+ i[
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Chapter 3, Problem 3.

Find the currents i; through i4 and the voltage v, in the circuit in Fig. 3.52.
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Chapter 3, Problem 73.

Write the mesh-current equations for the circuit in Fig. 3.117.
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Figure 3.117
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